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K ™M N R2 K M N R2
0 -Nol | 1564 | 0.774|0.163| 0.922| 859 |0.798|0.188| 0.970
0 -No2 | 4577 | 1.406| 0.313| 0.908| 2655 | 1.521| 0.374| 0.953
15 -Nol| 3128 | 0.691| 0.236| 0.864| 1334 | 0.801| 0.231| 0.989
15 -No2| 5755 1.198| 0.405| 0.950| 2224 | 1.152| 0.215| 0.975
30 -Nol| 3171 |0.699|0.331|0.796| 990 | 0.544| 0.023| 0.988
30 -No2| 4661 |0.575|0.235|0.788| 2265 | 1.011| 0.133| 0.941
90 -Nol| 5742 |0.712|0.403|0.797| 1278 | 0.645| 0.080| 0.949
90 -No2[14077|0.813|0.360|0.817| 1461 | 0.834| 0.277| 0.986
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